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Y= 2(X-2)+1

can be entered as-is into your Y= window. So the quickest way to build a line and play around
with it is the point-slope version (needs only the slope and a point on the line) I gave you in

lecture, today.

It's also a cool way to view ALL lines as transformations on the basic function f(x) = x.

This one, for instance, is just f(x) = x,
stretched vertically by a factor of 2 (multiply y-values by 2),

shifted to the right 2
Shifted up 1

Y= 2(X-2)+1

So you know everything about every (nonvertical) line, just by knowing y = x and how to

shift and stretch functions!

Y, =2f(x - 2) + 1!
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A graph of cos(x) - 0.3x

Graphs of cos(x)
and 0.3x, separately.

Either way, you can see that cos(x) and 0.3x intersect 3 times.

This is what I entered when I wanted to plug in different x-
values into the slope between the point (2, 1) = (2, f(2)) on
the graph of

fix)=x*-2x+1

and any other point (x, f(x)) on the curve.

Tables are really quick for plugging in a whole bunch of
different x-values, but this method, using the VARS key, isn't as
limited in accuracy as the table, which doesn't display as many
digits.



A not very good attempt at showing a secant line that WE built, the tangent line, and the
function. I think I should've used a taller window, so you could see all three more clearly.

To capture a part of the screen: ZOOM-1 Then use arrow keys to anchor the corners of the
zoom-box. Hit enter at each corner. My top left corner should've been farther up.

WEYO4ZEERE IY=-B677418

This is the result of the zoom. I should've made it taller and
skinnier. That would have accentuated the key features I wanted
to show. I will do another one like it next time we meet.
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